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PART A: Vocabulary

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes

the sentence. Then mark the correct choice on your answer sheet.
e ————— ]

1- What is the formula for --—---—-- pounds into kilos?
1) compiling 2) converting 3) associating 4) assembling
2- The government tried to ---------- the book because of the information it contained about the
security services.
1) pursue 2) sanction 3) suppress 4) undertake
3- The study ----eeee-- to show an increase in the incidence of breast cancer.
1) purports 2) contends 3) sustains 4) implements
4- The research indicates that 4 out of 10 passengers --———--- the law by not wearing their belts,
1} flout 2) submit 3) revenge 4) eliminate
5- You must be able to make all ——---—-- plans in the event of enemy attacks.
1) restraint 2) anticipation 3) consequence 4) contingency
6- In the eyes of the law, these two offences are each other.
1) on the verge of 2) on a par with 3¥1in view of 4) in the course of
7- In a number of developing countries, war has been an additional ----——- to progress.
1) mediation Z) supplement 3) impediment 4) retardation
8- The company is reported to have ---—-—- of nearly § 90,000.
1) ledgers 2) equations 3) insertions 4) liabilities
9- The -——---—- effect of using so many harmful chemicals on the land could be considerable.
1) distorted 2) cumulative 3) diminishing 4) compensatory
10- They have saved up a lot of money, so they can -----— — afford to buy a bigger apartment.
1) equivocally 2) accessibly 3) analogously 4) presumably

| PART B: Grammar

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each blank. Then mark the eorrect choice on yaﬂr answer sheet.

The body needs many different nutrients. These are various substance:s (11) =weemmmmma provide
energy and the materials for growth, body-building, and body maintenance. Every day millions of
cells in the body die and must be replaced by new ones.

(12) --==mm- foods contain all nutrients. So it is not just the quantity of food eaten that is
important, but alse the variety. People who have enough (13) -----m---- to them may still become ill
because they are eating too much of one kind of food and not enough (14) ----emem-.

To stay healthy, we need to eat a balanced diet. This means a diet containing the right

proportions of the main nutrients. Many foods (15) --—---—-- of these basic nutrients. A balanced
diet'also contains encugh energy (in the form of food) to power the chemical reactions of living
11- 1) necessary to 2) of necessity so as 3) to be necessary to  4) being necessity so as
12- 1) Not all 2) Not each 3) Neither do all 4) Neither each
13- 1) available food 2) food available 3) availability food 4) food availability
14- 1) others 2) another 3) of another 4) of other
15- 1) have mixture 2) have mixing 3) are a mixture 4) are mixing
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| miark it on your answer sheet.
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PASSAGE 1:

The loganberry is generally thought to be derived from a cross between the European red
raspberry cultivar Red Antwerp' and the American blackberry cultivar ‘Aughinburgh'. It
was accidentally created in 1880 or 1881 in Santa Cruz, California, by the American
lawyer and horticulturist James Harvey Logan (1841-1928). In the 1880s, berry growers
began to cross varieties to obtain better commercial varieties. Logan was unsatisfied with
the existing varieties of blackberries and tried to cross two varieties of blackberries to
produce a superior cultivar. While attempting to cross two varieties of blackberries,
Logan accidentally planted them next to an old variety of red raspberry, all of which
flowered and fruited together. The varieties involved .in the Loganberry hybrid were
probably 'Texas Early' or 'Aughinburgh' blackberry and 'Red Antwerp' red raspberry
which were two of the three Rubus varieties planted in Logan's yard that year. Logan
gathered and planted the seed. The 50 seedlings produced plants similar to the blackberry
parent Aughinbaugh, but were larger and more vigorous, One was the Loganberry; the
remaining 49 included the Mammoth Blackberry (the longest fruit of any varety ever
grown). Since Logan's time, crosses bétween the cultivars of raspberry and blackberry
have confirmed the Loganberry's parentage. Logan's original was introduced to Europe in
1897, while the 'American Thornless', a prickle-free mutation, was developed in 1933. A
similar hybrid is the Nessberry which is @ cross between a dewberry and the red
raspberry.

16- The passage states that s,

1) different varieties of blackberry are superior to loganberry

2) the Early Texas is a popular variety of raspberry in America

3) there was no commercial variety of berries before the 1880s

4} Loganberry was not first developed based on any specific plan
17- 1t is mentioned that ~---------,

1) raspberries normally flower and fruit together

2) blackberries and raspberries are usually planted apart

3) the Red Antwerpraspberry belongs to the Rubus variety

4) old varieties of blackberry can fruit and flower at the same time

18- We understand from the passage that the Loganberry was NOT originally -------——-,
1) tasty 2) long enough
3) thornless 4) commercially successful
19- The passage is mainly about ------mev-,
1) blagkberries and raspberries 2) the origin of the loganberry
3) different varieties of blackberry 4) the importance of fruit-crossing
20- The word *vigorous' in line 13 is basically related to the word ---———--- )
1) ‘energy” 2) ‘length’ 3) “taste’ 4) ‘popularity’
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PASSAGE 2:

Early root growth is one of the functions of the apical meristem located near the tip of the
root. The meristem cells more or less continuously divide, producing mere meristem;, root
cap cells (these sacrificed to protect the meristem), and undifferentiated root cells. The
latter will become the primary tissues of the root, first undergoing elongation, a process
that pushes the root tip forward in the growing medium. Gradually these cells
differentiate and mature into specialized cells of the root tissues. Roots will generally
grow in any direction where the correct environment of air, mineral nutrients and water
exists to meet the plant's needs. Roots will not grow in dry soil. Over time, given the right
conditions, roots can crack foundations, snap water lines, and lift sidewalks. At
germination, roots grow downward due to gravitropism, the growth mechanism of plants
that also causes the shoot to grow upward. In some plants (such as ivy), the "root"
actually clings to walls and structures. Growth from apical meristems is known as
primary growth, which encompasses all elongation. Secondary growth encompasses all
growth in diameter, a major component of woody plant tissues and many nonwoody
plants. For example, storage roots of sweet potato have secondary growth but are not
woody. Secondary growth occurs at the lateral meristems, namely the vascular cambium
and cork cambium. The former forms secondary xylem and secondary phloem, while the
latter forms the periderm.

21- Tt is stated in the passage that --—----,

1) the apical meristem is a function of early root growth

2) undifferentiated root cells are a product of root cap cells

3) the process of elongation transforms a root into a root medium

4) primary tissues of the root originate in undifferentiated root cells
22- We understand from the passage that

1) elongation is not related to the diametral growth of the tree

2) direction of root growth depends primarily on water supplies

3) roots may lift sidewalks in dry soils if they are strong enough

4) gravitropism causes the root’s upwards and'downwards movement
23- The passage states that --—-—--,

1) primary and secondary growth are quite interdependent

2) many non-woody plants have a major woody component

3) sweet potato is a non-woody plant with a strong meristem

4) secondary xylem is formed through the vascular cambium
24- The passage mentions that periderm originates in —

1) secondary xylem . 2)cork cambium 3) secondary phloem  4) storage roots
25- The word ‘undergo’ in the fourth line is closest {0 —-—-—,
1) *stop’ 2y ‘grow’ 3) ‘experience’ 4) ‘response’
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PASSAGE 3:

At the tip of every growing root is a conical covering of tissue called the root cap, which
consists of undifferentiated soft tissue (parenchyma) with unthickened walls covering the
apical meristem. The root cap provides mechanical protection to the meristem as the root
advances through the soil. As the root cap cells are worm away they are continually replaced
by new cells generated by cell division within the meristem. The Toot cap is also invelved in
the production of mucigel, a sticky mucilage that coats the new formed cells. These eells
contain statoliths, starch grains that move in response to gravity and thus control root
orientation. The outside surface of the primary root is the epidermis. Recently produced
epidermal cells absorb water from the surrounding environment and produce outgrowths
called root hairs that greatly increase the cell's absorptive surface. Root hairs are very delicate
and generally short-lived, remaining functional for only a few days. However, as the root
grows, new epidermal cells emerge and these form new root hairs, replacing those that die.
The process by which water is absorbed into the epidermal cells from the soil is known as
osmosis. For this reason, water that is saline is more difficult for most plant species to absorb.
Beneath the epidermis is the cortex, which comprises the bulk of the primary root. Its main
function is storage of starch. Intercellular spaces in the cortex aerate cells for respiration. An
endodermis is a thin layer of small cells forming the innermost part of the cortex and
surrounding the vascular tissues deeper in the root. The tightly packed cells of the
endodermis contain a substance known as suberin in their cell walls.

26- It is mentioned in the passage that the ------—-- .
1) apical meristem has thin walls 2) meristem supplies root cap cells
3) root cap covers the parenchyma 4) root cap is partly produced by mucigel

27- The passage states that —---—--,
1) root hairs are extremely resistant to change
2) cortex 1s composed largely of the primary root
3) starch is stored in the area beneath the epidermis
4) proper root orientation increases water absorption
28- The passage points to the fact that
1) endodermis cells are very close to each other
2) osmosis takes place in the suberin area of the cell
3) intercellular spaces are filled by the vascular tissues
4) respiration is made possible through active root hairs
29- The passage is mainly about -=-—-—- .

1) root structure 2) epidermal tissues
3) meristem and epiderm 4) respiratory system of plants

30- The expression “worn.away’ in line four is basically related to the word ——---—--- .
1} ‘re-generate’ 2) ‘disappear’ 3) ‘develop’ 4) ‘repair’
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